
JMC Practice Paper D

[image: image1.png]What is the value of 6002 — 2006?
A 3994 B 3996 C 4000 D 4004 E 4006

Horatio the hamster likes to eat parts of clock faces. In which of these clock faces has the
largest sum of numbers been eaten?
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Among the children in a certain family, each child has at least one brother and at least one
sister. What is the smallest possible number of children in the family?

A2 B3 C 4 D=5 E6

How many triangles of any size are there in this diagram?
A8 B 10 c12 D14 E 16

Euclid Gardens has 123 houses in it, numbered consecutively from 1 to 123. Houses 29 to 37

inclusive are knocked down to make space for a multi-storey car park. How many houses
remain in Euclid Gardens?

A 86 B 114 C 115 D 116 E 117

Each block shown in this tower is to have a number displayed on it.
Some are already done. For each block above the bottom row, the
number on it should be the sum of the numbers on the two blocks it
stands upon.

‘What number should replace n?
A3 B 6 C 10 D 11 E 13

What is the value of x?
AT5 B 85 C 9 D 105 E 115 ‘



[image: image2.png]Pinocchio’s nose is Scm long. Each time he tells a lie his nose doubles in length. After he has
told nine lies, his nose will be roughly the same length as a:

A domino B tennis racquet C snooker table D tennis court ~E football pitch

The sum of three different prime numbers is 40. What is the difference between the two
biggest of these three numbers?

A8 B 12 C 16 D 20 E 24

Which one of the following shapes could not appear as the overlapping
region of two identical squares?

A equilateral triangle B square C kite
D heptagon E regular octagon
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